Math 1330
Homework 25 (6.3)

The homework problems come from the exercises in Chapter 6 of the online text. Problem 6.3.6 refers to
problem 6 in Chapter 6, Section 3. Record your answers to these problems in the EMCF titled
“Homework 25.”

Note: For numbers 1 —4, let “k” be an integer.

1. Problem 6.3.6 band c

A b ES o Tioke 27 Lok
6’ 6 6

B b: £ 2% o Tike 2F ik
3’ 3 3 3

C b: z,z—” c £+27r, 2—”+27r
3’ 3 3 3

D h: XL c: Ziokr
3

E b z,z—ﬂ c £+2k7r, 2 okx
3’ 3 3

A. b: S—E,E C: 5—”+k7z
6 6 6
B b: £,4—” . Zikr
3 3 3
C. b: £,4—” C: £+2k7r, 4—”+2k7r
3 3 3 3
D. b: 2—,5—7[ C: 2—”+k7z
3 3 3

E. None of the above (not the right answer)



3. Problem 6.3.16 b and ¢

A b £ 5F 37

' 33’2
B. b X 2%
' 3’3

C. b 2% A7
3 3

D b: l,s—ﬂ,ﬂ
3' 3

E b: z,s—ﬁ,ﬂ
3 3

4. Problem 6.3.18 band ¢

A b 257 ST kx
6 6 6
B. b Z 2% ST | ok
6 6 6
C. b: 4—”,5—” — + 2k, 5—”+2k7z
3 3 3
D. b 7_7[& sz 11—7r+2k7z, 3—7T+2k7z
6 6 2
E. b: ﬁ,z—” (0% —— +2kr
3 3
5. Problem 6.3.30 Use radians instead of degrees. 0<x<2x
A. Vs
B. 0, «
c. Z 3
27 2
pp Z 3,
' 2' 27

E. No solution.

Q

Q

5—7[+2k7[, 3—7[+2k7r
3 2

5—7[+2k7z
3

%’szﬁ, 0+ 2k

5—7[+2k7r, 7+ 2Kr

5?”+27z, T+ 2k



Problem 6.3.34  Use radians instead of degrees. 0<x<2x

A

B.

0, n, 2«

z 3z 5z Iz

4° 47 4 4

z 3z 5 Iz z 37
4° 47 47 47 2" 2

No solution.

Problem 6.3.36  Use radians instead of degrees. 0<x<2x

A. 0, «
B. Z %
' 6’ 6
C. 0, r, ﬁ’ Sz

6 6
D. o0 x ‘7 U7

6 6
E. No solution.
Problem 6.3.38 0<x<2rx
A 7_7r’ 11x

6 6

B 7_7[ 117 192 23«
' 18" 18 ' 18 ' 18
C K 5_7z 137 177 25x 29«
' 18" 18’ 18 ' 18 ' 18 ' 18
D 7 11z 192 232 31n 35«

18’ 18 ' 18 ' 18 ' 18 ' 18

No solution.



10.

11.

Problem 6.3.40 0<x<2rx

A. —, 2
2
B o 17
. —
C T 3z
. S
D. 0, =
2
E. No solution.
Problem 6.3.42 0<x<2rx
A £ 3
' 2’ 2
B. Z 2%
6 6
C. T
D T iz
. 3
E. No solution.
Problem 6.3.46
A E 57
6 6
Ea 117 13x 23x
12 12 " 12 " 12
c. X5
3’3
p. X > Iz 1z
' 6'6 6 6
E 27



12.  Problem 6.3.48 Use radians instead of degrees. 0<x<2x
A k3 4_7[ 7_7r 107 13~ 16x
' 9°'9'9 "9 99
B Ea 7_7r 137 192 25 31x
' 18' 18" 18 ' 18 ' 18 ' 18
c k3 4_7r 107 13«
9’ 9’ )
D i
3
E i
9
13.  Problem 6.3.50 Use radians instead of degrees. 0<x<2x
A T 1z
' 6’ 6
B T 11x
' 3’ 3
C 2z
' 3
K 11x
12" 12
E i
' 3

14. Problem 6.3.52

A 37z Tn 1lx 3_7[ 197

10°10°' 10 ' 2 ' 10

B. —, =, —, ==

10 ' 10

37z = Tn 97 1llx 13x 3_7[ 177 19rx

10 '10° 10 '10 ' 10

) ) )

10 2 10 10



15.

Problem 6.3.56

A i
' 2
B 0, «
c. £ x3
22" 2
p. Z 3
' 2 2

E. No solution.



